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科技管理研究所碩士班    英文試題


1、 本測驗分兩部份，全為四選一之選擇題(單選)，共50題，每題2分，不倒扣，共100分。
第一部份：
詞彙和結構


本部份共32題，每題有一個空格。請就試題上所提供的A、B、C、D 四個選項中選出最適合題意的答案。

例：

After the police arrive, they will begin to interview the people who ______ in the jewelry store at the time of the robbery
(A). have been

(B). will be

(C). were

(D). are

(正確答案：C)



1. Flight CI947 _______ depart at 6:30 p.m. but was cancelled because of a mechanical problem in one of the engines.

(A).
is assumed to

(B).
ought to

(C).
was supposed to

(D).
might have to
2. _______ newspaper reports, flooding in the area near the river due to the storm has been much more serious than expected.
(A).
As
(B).
For
(C).
Including some
(D).
According to
3. New computer technology has _______ changed the way Hollywood movies are made.

(A).
badly

(B).
idly

(C).
dramatically 

(D).
greedily

6. I will go home for vocation as soon as I _______ my exams.

(A).
will finish
(B).
finish
(C).
am finishing
(D).
finished
7. The architect of the new museum received several awards for her _______ design.

(A).
elegant 

(B).
opposite

(C).
admiring 

(D).
courteous

8. If a typist wishes to type rapidly, he _______ develop a rhythmic movement of his fingers.
(A). used to
(B). must


(C).
would


(D).
had to

4. After we ate the fried chicken, our fingers were oily, so we asked the waitress for more _______.


(A).
napkins


(B).
packages


(C).
orders


(D).
menus
5. Mr. Lin teaches mathematics at a private high school in Pingtung.  He _______ there since 1990.

(A).
is

(B).
was

(C).
will be

(D).
has been

9. Please separate your garbage and _______ it in the appropriate containers.

(A).
put 

(B).
putting

(C).
puts

(D).
to put

10. Elementary school students don’t have as _______ homework as junior high students do.

(A).
more

(B).
much

(C).
most

(D).
many
11. Paul worked at the restaurant last month, but he doesn’t work there _______.

(A). 
again

(B). 
anyway

(C). 
anywhere

(D).
anymore 
12. Christina was _______ because her grandfather had put more money in her brother’s red envelope.

(A).
sneaky

(B).
jealous

(C).
greedy
(D).
humble
13. My mother hates all _______, especially cockroaches.

(A).
nieces

(B).
flutes

(C).
nails
(D).
bugs
14. The wind was so cold that the thin scarf wasn’t very _______.

(A).
responsible 

(B).
effective 

(C).
familiar 
(D).
changeable
15. In Japan, two people bow when they meet.  In the west, _______ hands is the usual custom.

(A).
shaking

(B).
shakes
(C).
shaken
(D).
shake
16. The babysitter _____ with the child since this afternoon.

(A).
will be
(B). 
has been
(C).
would be
(D).
is
17. The current economic recession is threatening the ______ of many people in the country.

(A). substance

(B). maturity

(C). qualifications
(D). livelihoods
18. Due to Typhoon Emerson, the price of vegetables has ______ greatly over the past few days. 

(A). adjusted

(B). influenced

(C). expanded

(D). fluctuated
19. The captain had trouble ______ the narrow channel.

(A). navigating

(B). generating

(C). embarking

(D). abridging

20. Since he turned thirteen, Albert has been having loud arguments with his father. Is this just typical teenage ______?

(A). fantasy

(B). mechanism

(C). productivity

(D). rebellion

21. She overslept and was _______ late that she missed the bus.

(A).
so 
(B).
too
(C).
much  (D).  very

22. Naturally, we would rather have taken the trip for our vocation _______ at home.

(A).
than have stayed 

(B).
than staying
(C).
to stay
(D).
but have stayed
23. There is always a gap between what we say and _______.

(A).
whatever we do 

(B).
what we do
(C).
that which is done

(D).
that done

24. Her child was born _______.

(A).
it’s five years
(B).
for five years
(C).
since five years

(D).
five years ago
25. He _______ quite a lot in his work.

(A).
use to travel
(B).
is used to travel
(C).
used to travel

(D).
was used to travel
26. This old desk isn’t _______ to sell, but maybe we could give it to someone.
(A).
goodly enough
(B).
good enough
(C).
good as enough
(D).
enough good
27. I enjoyed the concert last night; they played _______ beautiful music.
(A).  such  (B). such a 
(C).
so  (D).
so a 

28. I walked 8 miles today. I never guessed that I could walk _______ far.
(A).  that  (B). this  (C).  such  (D).
 as

29. Professor Huang has us _______ composition every Friday.
(A).
to write 

(B).
written
(C).
write
(D).
wrote
30. It’s the first time that she had been to the United States, _______?
(A).
isn’t she 

(B).
hasn’t she
(C).
isn’t it

(D).
hasn’t it

31. Nobel prizes are the _______.

(A).
height of world prestigious honors
(B).
world’s most prestigious honors
(C).
honors of the world ‘s highest prestigious

(D).
prestigious with the most honor in the world

32. Lizards’ tails may teach us how cells learn to specialize, how heart muscles grow, and even _______.

(A).

the cancer growth is arrested
(B).

how cancer growth is arrested
(C).

where is cancer growth is arrested

(D). 
to be arresting cancer growth
第二部份：段落閱讀

本部份題目共四段文章，題目共18題，請分別閱讀各段短文後，於短文後每個題目中選擇一個最適當的答案。

Muscles produce heat when the body is in motion, but when the body is at rest very little heat is generated except by the metabolic activity of the internal organs.  In fact, the internal organs are the source of most body heat.  The temperature of an organ such as the liver, for example, is much higher than the overall body temperature.  The blood carries heat away from the internal organs to the lung and skin and heat is then released by the lungs through respiration and by the skin through contact with the air.
33. According to the passage, what happens when the body is at rest?
(A). Muscles require lower temperatures.

(B). The liver works harder.

(C). Internal organs provide most body heat.

(D). The metabolic rate increases.

34. Heat is transferred from one part of the body to another through

(A). blood circulation.

(B). moisture evaporation.

(C). respiration in the lungs.

(D). insulation of the skin.

35. What does the body do with excess heat?
(A). Cools it in the liver.

(B). Stores it in the muscles.

(C). Returns it to its internal sources.

(D). Releases it through the lungs and skin.

36. What is the main topic of the passage?

(A). Ways of relaxing the body.

(B). Instability of internal organs.

(C). Sources of body heat.

(D). Paths of the circulatory system.

All degree candidates must demonstrate proficiency with the computer by passing a proficiency examination that is given during each term.  Full-time students must satisfy this requirement by the beginning of their second semester, while part-time students must satisfy the same requirement by the beginning of their third semester.
37. Who must pass the proficiency test?

(A). Students entering the university for the first time.

(B). Transfer students.

(C). Students working toward a degree.

(D). Postgraduate scholars.

38. For full-time students who do not know how to use a computer, the appropriate time to take a course would be

(A). during their first semester.

(B). at the beginning of their second semester.

(C). whenever their schedule permits.

(D). immediately before graduation.

39. How often is the test given?

(A). Each month.

(B). Every semester.

(C). Once a year.

(D). On student request.

40. It can be inferred from the passage that use of the computer is considered

(A). necessary for admission to the school.

(B). expensive for part-time students.

(C). easier for full-time students.
(D). important for student course work.

The Stone Age was a period of history which began in approximately 2 million B.C. and lasted until 3000 B.C. Its name was derived from the stone tools and weapons that modern scientists found. This period was divided into the Paleolithic, Mesolithic, and Neolithic Ages. During the first period (2 million to 8000 B.C.), the first hatchet and use of fire for heating and cooking were developed. As a result of the Ice Age, which evolved about 1 million years into the Paleolithic Age, people were forced to seek shelter in caves, wear clothing, and develop new tools.
During the Mesolithic Age (8000 to 6000 B.C.) people made crude pottery and the first fish hooks, took dogs hunting, and developed a bow and arrow, which was used until the fourteenth century A.D.
The Neolithic Age (6000 to 3000 B.C.) saw humankind domesticating sheep, goats, pigs, and cattle, being less nomadic than in previous eras, establishing permanent settlements, and creating governments.
41. Into how many periods was the Stone Age divided?

(A).  
2.


(B).  
3.


(C).

4.



(D).

5.

42. Which of the following was developed earliest?

(A). The fish hook.

(B). The first hatchet.
(C). The bow and arrow.

(D). Pottery.

43. Which of the following developments is not related to the conditions of the Ice Age?
(A). Farming.


(B). Clothing.


(C). Living indoors.


(D). Using fire.

44. Which period lasted longest?

(A). Paleolithic Age.
(B). Ice Age.


(C). Mesolithic Age.

(D). Neolithic Age.

45. Which of the following periods saw people develop a more communal form of living?
(A). Paleolithic Age.
(B). Ice Age.


(C). Mesolithic Age.

(D). Neolithic Age.

46. The author states that the Stone Age was so named because
(A). It was very durable.

(B). The tools and weapons were made of stone.

(C). There was little vegetation.

(D). The people lived in caves.

In an effort to produce the largest, fastest, and most luxurious ship afloat, the British built the Titanic. It was so superior to anything else on the seas that it was dubbed “unsinkable.” So sure of this were the owners that they provided lifeboats for only 950 of its possible 3500 passengers.
Many passengers were aboard the night it rammed an iceberg, only two days at sea and more than half way between England and the New York destination.  Because the luxury liner was traveling so fast, it was impossible to avoid the ghostly-looking iceberg.  An unextinguished fire also contributed to the ship’s submersion. Panic increased the number of casualties as people jumped into the icy water or fought to be among the few to board the lifeboats.  Four hours after the mishap, another ship, the Carpathia, rescued the survivors – less than a third of those originally aboard.
The infamous Titanic enjoyed only two days of sailing glory on its maiden voyage in 1912 before plunging into 12000 feet of water near the coast of Newfoundland, were it lies today.

47. Which of the following is not true?

(A). Only a third of those aboard perished.
(B). The Carpathia rescued the survivors.

(C). The Titanic sank near Newfoundland.
(D). The Titanic was the fastest ship afloat in 1912.

48. Which of the following did not contribute to the large death toll?

(A). Panic.


(B). Fire.


(C). Speed.


(D). Carpathia.
49. How many days was the Titanic at sea before sinking?

(A). 
2.


(B).

4.

(C).

6.


(D).

12

50. The word unextinguished means most nearly the same as

(A). indestructible.

(B). uncontrollable.
(C). undiscovered.

(D). unquenched.
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